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Write the missing number
in this series.

300, 400, 500, , 700 600
Find the total of
30p + 6p + 4p + 10p. 50p
What number is 11 more
than 59? 70
How many cm in 3 m? 300 cm
How many hours from 10 a.m.
to2 p.m.? 4 h
What fraction of
this whole one is 1
shaded? 3
By how much is 22p less
than 3 TENS? 8p
6+6+6+6+6+6+6=(7%X6
= 42
" How many quarters in 23? 10
Find the difference between 30
and the sum of 19 and 7. 4

o
Section2 Test5
i 70 = tens 7 1 X
e SRS
2 Write in figures 7
three hundred. 300 Estimate which of the lines
X, Y or Z measures 7 cm.
3 200 + 500 700 ‘
4 - -
790490 3] gl £100 = 100p. How many
4 et
5 13p + 18p 31p pennies are worth £5-007 500p
6 | 1ofaFIFTY 5p : :
' 1 What is the date 4 days
B 25p - 9% 16p after 29th December? 2nd January
8 6 X 6 5 41
: B g8 Of 35 marbles, one fifth are blue
9 7] = X 4 * and the rest red. .
% How many are red? 28
10 16 +5-9 12

How many 6p badges can be
bought for 2 TWENTIES,
1 TEN and 4 pennies? 9

22 cm

£
_‘LI rectangle

By how many cm is the
length of the rectangle
greater than the width?

14% cm

What number when divided by
3 gives 8 for the answer?

What fraction of these beads
is white?
00000000

PN
o
=

oI

How much is needed to give
7 girls 6p each?

3 kg costs 14p.
Find the cost of 13 kg.
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Test 6
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Write the missing numbers
in this series.

2150, 2100, 2050, &4, 200011950
150 + 200 + = 600 250
259 = {§ tens + 9 tzenss
£5-00 — £2-40 £2:60
£416 + 4 £1-04
8x6)+5 53
£0-15 + £0-09 + £0-26 = p | 50p
3 kg costs 10p. Find the

cost of 5 kg. £1-00
(8 x9) =7tens +  units 2
3 of 24p 18p

How many sixes are equal

to 427 7

4p x 8 = 3TENS + § p 2p
8809 + 200g=1kg+ g 8049
Divide £3-00 by 10. -30p
What is the total of

13, 14 and 15? 42
How many pennies have the

same value as £4-56? 456p
Subtract 150 grams from

5 kilogram. 3509
How many times smaller is

54 than 5407 10
Decrease 13 metres by

80 cm. 70 cm
1 kg costs 50p.

35 kg cost £ £1-75

23

¢ B L
L

6
- X 572 What does x stand for? 152

How much more is 18p + 17p

than 2 x 15p? 5p

The clock is 20
minutes slow.
Write the correct
time in figures
using a.m.

or p.m.

3.05 p.m.

afternoon

40mm What is the distance

M

round this
rectangle?

-I E
E
o
N

120 mm

Find the change from £3
after spending £1-40 and
80p.

£0-80

There are 150 children in a
school. Two thirds of the

children have school meals.
How many children is that?

Which bag contains the most
money? X

1 kg costs 80p. What is the

costof @ ®

(@) akg (b) 2kg? 20p 60p
If Christmas Day falls on a

Sunday,-on which day will

New Year's Day fall? Sunday
Beads are 10 for 30p. How

much will 100 beads cost? £3-00
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10

1

Write as a decimal
the number shown
on the abacus

picture 12,331
50 - (6 x 7) 8
(19+8 -(6+7) 14
£1-09 + 68p = £ £ e,
Find 3 of 28 kg. 21 kg
1 article costs 19p.
5 articles cost  p. 95p
| 33p+  p=2TWENTIES 7p
13kg —700g = g 550 g
£1-49 + £1-49 + £1-49 £ 4-47
68 + 7= rem. 9 rem. 5
06 +18+ 05 2.9
0.lm= " cm 10 cm

s Write 1—65 + % as a decimal fraction. 0.68
Multiply 6 by 47. 282
How many c¢m are there in 1.8 m? 180 cm

Change these 24-hour clock times to 12-hour
clock times. Use a.m. or p.m.

(a) 06.00 (a) 6.00 a.m.
(b)19.00 (b) 7.00 p.m.
Write 6 kg 650 g to the nearest 7 kg. 65 kg
Subtract 0.03 from a whole one.
Write the answer as a decimal fraction.
0.97

By how many mm is 10.0 cm greater
than 7.9 cm? 21 mm
Find the cost of 12 sweets if
2 sweets cost 5p. 30p
Find the difference between 30
multiplied by 10 and 30 divided
by 10. 297
By how many g is 5 times 250 g
less than 2 kg? 750 g

Xy X
340.4 How many times larger is the
4 marked x than the 4 marked y ? 100

00| —

oy 7, 3
How much greater is g than 7 ?

24

ANSWER

Write as a decimal
fraction the part of

the whole square
which is
(a) shaded (a) 0.21
(b) unshaded. (b) 0.79
¥ How much less than £6 is the
' sum of £1-85 and £3-45? 70p
If 4% m of string is divided into 25-cm
! lengths, how many lengths
will there be? 18

| How many hundredths are equal

' invalue to
(@ 0.4 (a) 40 hundredths
(b) 0.9? (b) 90 hundredths

" A motor cyclist travelled for 17 hours
' at aspeed of 60 km/h.

What distance did he travel? 75 km

Clock A shows the time.
Daniel left home and
clock B shows the time
he returned.

How many h and min was he away? 5 h 5 min

How many packets each with a

mass of 190 g will together have a

mass of 37 kg? 85

. By how many twelfths is 3 greater 1

than 5? )

Find the change from a £10 note after

buying 6 toys costing £1-25 each. E892:50

Yasmin's father pays 2 of the cost of a

bicycle. Yasmin pays the remainder.

The cost of the bicycle is £70.

How much does each pay? Yasmin £ 14
Father £ 56

200 g of meat cos1ts 80p.

Find the cost of 15 kg. £ 6:00

The circumference of this
circle is approximately 11 cm
and the diameter is 3.5 cm.
How much longer is the
perimeter of the square than
the circumference

of the circle? 3 cm
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Section2 Test 11
“ ANSWER ANSWER
1| £2:26+£1.87 £ 413  fndn A N
s L egrees the NYA
2 5Am = m + 140 cm 4m measurement /60) “ m
of each of
3 (35 + 7) x (30 + 6) 25 the angles a and b. 5\60°
b 1400
30300me—-36= ¢ me 2 ¢ 800 me
3 2000 s T R 2 | Howmany TWOS have thesame ~  —
in = i i g 12 FIVES
5 135 min h  min 2h 15 min value as (a) @)\30
6 45 +2%+ p=£1 26p : (b) 3 FIFTIES? (b) =
@ Write all the numbers between 48
7 (8 + 56) - (15 + 9) 40 SEEEE and 68 which can be divided
by 7 without a remainder. 49 56 63
8 0.75m x 100 75m yzﬁ 10 boxes have a mass of 15 kg.
1 | Fi i f
9 (40 + 8) x 7 35 Find the mass in g of (a) 1 box M
(b) 5 boxes.  (b) 750 g
10 2kg750g +900g = kg g 3kg 650g o) AT
e e 2 Brotley Carley
M @ikm= m @ 250m ; L |
B ikm = m B 750 m : e
B o A cyclist started from Brotley at
12 Findzof30¢ 25¢ 11.30 a.m. and arrived at Carley at
2.30 p.m. If he travelled at the same
g rate, what was his speed in km/h? 15 km/h
B 3 % Katie’s mother gave her £1-45 to add
S to her savings and her father gave her
: £2-70. She then had £5.
1 Find the product of 7 and 18. 126 How much had she at first? 85p
2 Find the number which is 100 times Radios are reduced
smaller than (a) 240 @ 2.4 BRONCO 05 by 10p in the £ off
(b) 37. ) 0.37 Y the list price.
: BT LIST PRICE £18 | What is the
3 Write as cm (a) 3.25 m (@ 325cm new price? £ 1620
b) 4.06 m. 40 '8 There are 186 pages in a book. Tom
© i ; )™= 40bien ~ read 64 pages and then 56 pages.
a How many grams more than 3 kg is How many more pages has he to read?
the sum of 280 g and 270 g? 50 g 66
10 What must be added to 39 to W90 [100 104 196 111 099
make 57? 18 % -
. Multiply the largest of these numbers
6 Decrease 43 by 16 and multiply by the smallest. 9.9
the answer by 10. 270 Ina c1lass of 32 children 3 of them are 10 years
7 From the sum of £1-17 and £1-33 old, 7 are 9 and the rest are 8 years old.
subtract 60p. £ 190 (a) What fraction of the children 3
4 . : are 8? (@) 3
8 Find the remainder when 113 is _
divided by 6. 5 (b) How many children are 8? (b) 4
; L ; The circumference of a wheel is
9 V\f/”ti as( E; csiggmal fraction @) 05kg - 1.85 m. Find in m the distance the
09 X0 4 = 7 wheel will travel in (a) 10 turns (d 185m
(b} 10075, oL g () 100tums. (o) 185m
1 pencil costs 9p. Find the cost of 42 3 kg of meat cost £18:00. Find
L 200 pencils. £ 1800 the cost of (a) 500 g QR EE3
11 What is the perimeter of a rectangle (b) 750 g. (b) £450
7 metres long and 67 metres wide? 27 m Turn back to page 16 and work for the fourth
42" How many newspapers each costing time Progress Test 1.
40p can be bought for £8:00? 20 Enter the result and the date on the chart.
28




Section2 Test5

1 20000 = 20 x 10 x

2 0.817 = 8tenths + = thousandths

ANSWER

100

17 thousandths

3 57:%%70 3990
4 32m + 8 = i cm S 40icm
5 24 - (18 x 0) 24
6 £20-36 = TENS + 6p 203 TENS
il :- 0
8 65me x 100 = litres 6.5¢
9 26cm +39cm = mm 65 mm
10 £ 17 x 9 = £40-50 £ 450
R 1.5kg - 280g=Mg 1220 9
oW 6 x5=01x 300
n ANSWER

1 Write as a decimal

1035 thousandths. 1.035
2 Approximate 59.7p to the nearest

penny. 60p

90

3 @0=m @ 100

(b) Write the fraction as a decimal. (b) 0.9
4  Which two of these angles when

added together make two right angles?

672, 1032587281020 @72 Al
5 How many times is 0.48 less than

480? 1000
¢ indin mm the value of the figure

underlined. 7.075m 5 mm
7 9outof 25 = ' out of 100. 36
g How much change out of a £5 note

after spending £1-46? £98:54
9 3 kg of tomatoes costs 80p. Find

the cost of 100 g. 16p

10  What fraction of 3 2is 150 me?
Which of these fractions is between

one half and one quarter in size?
B w2 7 B!
SR b

1

Find the area of
(a) the rectangle (a)

(b) the shaded
triangle.

12

7.4 cm

(b)

10 cm

vilw

ool w

74 cm?

37 cm?

22

o

¢ 5 A

\ |

- ANSWER
How many bottles each holding { itre
can be filled from 77 litres?
30
A packet of 100 sheets of paper costs\
£2-30. Find the cost of 150 sheets. £
=S
Take the least of these decimal
fractions from the greatest.
0.84 09 0.865 0.897
= o
Josh swims 15 lengths of the bath
which is 20 m long.
How many m short of § km does
he swim? 200m
e

The large cube s made
from a number of
centimetre cubes.

(@) How many cm

SeEEce—

cubes are
there? (a) 64
T, i
Rhdies 0 o
Ryan saved 60p which was £ of his
pocket money.
How much was all his pocket
money? 72p

2.8 kg of tea was put into 10 packets
of equal mass.
How many g were there in each

packet? 2809
/13597 B ABand CDare
X parallel lines. Find
1352
C D (a) angle x (a)
¥ (b) angle y. (b) 45°

" The total cost of 2 full fares and

(a) the full fare (@)
(b) the half fare. £ 11

1 half fare was £55. Find
= 2L

(b)

| What is the area in m? of a path which

measures 29 m long and 50 cm

wide? 143 m?
© Adistance of 9.875 km was written as
' 10 km to the nearest km'.
By how many m was the 125 m
approximation incorrect? 2O
The circumference
of acircleis 3.14
times the diameter.
Find the
length of the
circumference of 314

this circle.

!__4




